1. What s 5 ostriches put together with 13 ostriches?
5+13= ?
A. 20
B. 18
C. 19
D. 10



Try Again



Correct
Go to the Next Question




2.What is 14 ostriches put together with 4 ostriches?
14 +4 = ?
A. 18
B.14
C.19
D. 20



Try Again



Correct
Go to the Next Question




3.There are 11 frogs in a pool, 6 more added. How many frogs are there altogether?
11+6=___ ?

A.18

B. 20

C.19

D.17



Try Again



Correct
Go to the Next Question







Try Again



Correct

Go to the Next Question




5.How many strawberries are there in this picture?

o 0w >
5 18 < 15



Try Again



Correct



